State v. Shaw:   Reading Comprehension Self-Quiz

Correct Answers, Comments & Explanations

Correct answers in bold type; Prof’s comments & explanations in Italics.
(1) The grand jury indicted three men for taking fish from nets belonging to Grow and Hough.  State v. Shaw addresses the case against which of these men?


(a) James Postine.


(b) Henry Shaw.

(c) John Thomas.  The case says Thomas was tried separately and that this proceeding is an appeal of the directed verdict in his separate trial. Although in theory, the same rules should apply to all three defendants, by the time the Ohio Supreme Court decides this case, the other defendants might have entered plea bargains, been found innocent for other reasons, or even died. 


(d) All of the above.

(2) The trial court directed a verdict of “not guilty” on the charge of grand larceny because it thought the state had failed to show what aspect of the crime?

(a) That the fish taken had sufficient value to constitute grand (as opposed to petit) larceny.

(b) That the defendants had the requisite criminal intent.

(c) That the fish taken were owned by someone besides the defendants.  To commit grand larceny, you must take property that belongs to others.  The trial court held that the nets did not create property rights in the fish for the net-owners because they did not provide complete certainty that fish who entered the nets would stay there. 


(d) None of the above.  

(3)  Of the fish that swam into the nets owned by Grow and Hough, how many escaped?

(a) The precise number is unknown.  The court says this in the long description of the trial evidence on page 28.
(b) Under ordinary circumstances, few fish escaped.  The court says this on page 29 in the last paragraph of the opinion.
(c) More fish escaped during windy or stormy conditions than at other times. The court says on page 28 that fish escaped “over the top” of the nets at such times, and these events seem to be what the court is contrasting with “ordinary circumstances” on page 29.

(d) All of the above. 

(4)  What does the Ohio Supreme Court mean by “unnecessarily technical”?


(a) Too difficult for a layperson to understand.


(b) Requiring complex engineering or mathematics to resolve.

(c) Requiring a greater level of precision in construction than can reasonably be expected.  The court seems concerned that the trial court is requiring net-owners who want protection from theft to be able to show that “there [is] absolutely no possibility of escape.”  That would be a very tough standard to meet for any kind of trap, let alone a net that, by definition, has holes in it.
(d) Relying on very convoluted legal reasoning.

(5) Why does the court find bees to be a useful analogy here?

(a) Like fish, bees are normally found in groups.

(b) The Queen Bee normally remains in the hive even when the workers are absent.

(c) The owner of a hive is considered the owner of all the bees inside it even though some of the bees come and go from the hive.  The court says that “bees in a hive may be the subject of larceny [even though, like the fish in these nets]] it is possible for the bees to leave the hive by the same place by which they entered.”
(d) None of the above. 

(6) How does the court distinguish Young v. Hitchens?

(a)  In that case, the fish did not belong to anyone when the defendant took them.  The court points out thart the fisjh ni that case had never been in the net in question at all.
 (b) That case was a tort case, not a criminal case.  It was a tort case, but it still addressed when a net-owner had property rights to fish. 
(c) That case was decided in England and so was not relevant in Ohio.  The citation “Q.B.” means “Queen’s Bench” and does refer to an English case, but the court does not indicate that this makes it irrelevant.
(d) There is no cause of action for frightening fish because they are cold-blooded animals.

(7) Having reversed the trial court, why will the Ohio Supreme Court need to remand the case for a new trial?

(a) So the state can prove that Grow and Hough did not “intend to abandon [the fish] to the world at large.”  A fair reading of this case is that the court has held that these nets did create property nights in the net-owners to the fish inside them, so there would be no need to retry this issue. 
(b) So that defense counsel has an opportunity to present the client’s defense.  Thomas did not present a defense because the court stopped the trial at the end of the state’s evidence, but he surely is entitled to do so now that the court has found that the state met its burden. 
(c) So the state can prove that sufficiently few fish escaped from the nets. Same as (a).
(d) So that the state can try all the defendants together.  Nothing in the case suggests tjis is a concern.
